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Sample Confined Seepage Problem

Elevation = 43.0 ft /Sheetpile Wall

Clay Blanket Elevation = 32 0 ft
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Flow line
ky=k.=k ~

it i i e Equipotential line

line

Sheet pile

1. The equipontential lines intersect
the flow lines at right angles.

etk SRS, 2. The flow elements formed are
e S R e A e T approximate squares.
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FIGURE 5-11 Construction of flow net: (a) scale drawing showing pervious and impervious boundaries; (b) flow lines; (c) equipotential
lines; (d) final flow net.
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From Darcy law, ﬂomis equal to kiA. anﬁéti'on above can written -

I!!” Nl _kihy=ha)ly _kihg=hg)l;
1

is called the potentlal drop., —",
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A stiff clay layer underlies a 12 m thick silty sand deposit. A sheet pile is driven into the sand
to a depth of 7 m, and the upstream and downstream water levels are as shown in the
figure. Permeability of the silty sand is 8.6 x 10-4 cm/s. The stiff clay can be assumed to be

i2m6pervious. The void ratio of the silty sand is 0.72 and the specific gravity of the grains is
.65.

Draw a flow net and estimate the seepage beneath the sheet pile in m3/day per metre.




= 0.836 m3/day per metre




